[
k
[ A

i
=1 1221

&
&
<
&
&
&
&
&
&

P P L P A VA LA P VA N B

acdipsy pac ’V‘ €39 g0 230! e 9 3ol SIS S
aviyis aVvd4 (o)) gt plal

alp! ol (5 )90e
S35 Sl ke W jl3g
IS Pigel i plojl

(W‘W ,Jl.w_ J.i‘é a&n”b ..\.J'aﬂu.wu)u ‘Suo),é K999 u,.oﬂj

[ (WYOR) w5 = Swd mlio g gy (b b dcgozxe ]

adds 1Y 1 ool Qt‘l 18+ i J1aw o'..\.il
OV 5,lel g oluws | Jloiel Slge ylgis
sl | jlesd ) | Jige slai el olge s,
r. \ Y. (a3l omadis 5 gugsn s | )
A n Y. ol s olpl sty a wingd | ¥
V. a Y. lyspaui| v
A v\ Y. ool 32 g dhaadd Jouo! | ¥
" ) Y. wlas g Slee c3ls | 0
e " A ol 9 0lel 50 ol s e g s glaya | ¥
1 2 Y. T
ROUNE 1 E PR W00 PR PRI F oo D10 e b pad ya03l (!

Bygn 1 S el onbliin b g ail e e e sl 300 Ll Byl 3 A olondl paled 1 sope 3T (55158 2 3 g (iony SS9 ) iy 5 8 0 T A g 5 ik 3

A P RV LA E P o £ I I 0 E P O L P A B




Y axao 221F (\val .\f)u:\w.\é_a‘u.o,u.&b’}: ,_;lb,;hu,a.'aa

ol (19031 dds 10 Lol jgea pus & jods (b3 Joua Ol jade 10 Lasl § Glakie 730 pos ool )5 Llbgls ¥

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.'(Ml) M“, PP ‘_-2_‘2

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—---- -
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------==----- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -—--- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article

that said his company was —---—--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——----—- ---=, 48 YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Calligraphy. from the Greek words kallos (beauty) and graphos (writing), refers to the
harmonious proportion of both letters within a word and words on a page. While some
of the best examples of calligraphic writing make this art form appear effortless, each
letter and diacritical mark is the result of painstaking measurements and multiple
strokes. Calligraphy appears on many objects in virtually every medium-—architecture,
paper, ceramics, carpets, jewelry, woodcarving, and metalwork. In addition to its
decorative qualities, it often provides valuable information about the object it
decorates, such as function, maker, patron, and date and place of production.

A number of factors, such as the prospective audience. content of the text. and the
shape of an object informs the type of script employed. Graceful and fluid scripts such
as nasta'lig are used for poetry: Qur’an manuscripts are written in bold and stately
scripts. and royal correspondence utilized complex scripts that are difficult to forge.
Although there are exceptions, most scripts have several specific functions.
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What is the passage mainly about?

1) Types of scripts 2) Types of calligraphy

3) The art of calligraphy 4) Letters and diacritical marks

The passage mentions all of the following places where calligraphy can be seen EXCEPT

1) glass 2) carpets 3) ceramics 4) metalwork
The word “it” in paragraph 1 refers to --—--=-eeceeeee,
1) medium 2) calligraphy 3) information 4) architecture

According to the passage, which of the following factors does NOT determine the type of
script used in calligraphy?

1) Shape of an object 2) Content of the text

3) The potential audience 4) Function of an object

The word “stately” in paragraph 2 means -—-—-—-—-—,

1) graphic 2) intrinsic 3) majestic 4) symbolic
PASSAGE 2

The philosophy of art is distinguished from art criticism, which is concerned with the
analysis and evaluation of particular works of art. Critical activity may be primarily
historical, as when a lecture is given on the conventions of the Elizabethan theater in
order to explain some of the devices used in Shakespeare’s plays. It may be primarily
analytical, as when a certain passage of poetry is separated into its elements and its
meaning in relation to other passages and other poems in the tradition. Or it may be
primarily evaluative. as when reasons are given for saying that the work of art in
question is good or bad. or better or worse than another one. Sometimes it is not a
single work of art but an entire class of works in a certain style or genre (such as
pastoral poems or Baroque music) that is being elucidated, and sometimes it is the art
of an entire period (such as Romantic). But in every case. the aim of art criticism is to
achieve an increased understanding or enjoyment of the work (or classes of works) of
art, and its statements are designed to achieve this end.

What is the passage mainly about?

1) Art criticism 2) The philosophy of art
3) The Elizabethan theater 4) Understanding Shakespeare’s plays
According to the passage, critical activity is ——=--emeeeee -

1) philosophical. historical. and analytical

2) appreciative, analytical, and evaluative

3) appreciative, synthetic, and historical

4) historical, analytical. and evaluative

The word “elucidated” in line 10 means --eeeeeemeeus,

1) assessed 2) explained 3) confirmed 4) investigated
According to the passage, what is the goal of art criticism?

1) To understand and enjoy a work of art

2) To promote certain genres such as pastoral poems

3) To contribute to a certain style such as Baroque music

4) To merely appreciate an entire period such as the Romantic Period
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The word “end” in the last line means —-—--—eeeeeeee .
1) conclusion 2) last point 3) purpose 4) climax
PASSAGE 3

English art critic, professor. and curator Lawrence Alloway (b. 1926, London: d. 1990,
New York) brought a unique curatorial vision to the Guggenheim Museum in the early
1960s. In contrast to founding director and curator Hilla Rebay’s inclination toward
the spiritual in art. Alloway exercised a strong, almost exclusively modernist vision
while at the museum. Credited as the first to coin the term “mass popular art,” which
quickly shortened to “Pop art.” Alloway was a critical supporter of emerging postwar
American art. Prior to his history with the Guggenheim, Alloway was a member of the
Independent Group (1952-55). an assemblage of young artists and art historians
dedicated to the pursuit of understanding modern visual culture, at the Institute of
Contemporary Arts, London, where he curated several exhibitions and served as
assistant director from 1955 to 1960.

According to the passage, Lawrence Alloway’s career involved being all of the following
EXCEPT a(n) --=-=seeememeev,

1) university professor 2) archaeologist

3) curator 4) critic

The word “inclination” in line 3 means ~—-=--=eseeeee- 4

1) ambition 2) freedom 3) suggestion 4) tendency

According to the passage, which of the following statements is true?

1) Lawrence Alloway was the founding director of the Guggenheim Museum.
2) Hilla Rebay served as the assistant director of the Independent Group.

3) Lawrence Alloway and Hilla Rebay had contrasting views about art.

4) Hilla Rebay was a supporter of postwar American art.

The word “coin” in line 5§ means ~—-—-mmeemeee,

1) create 2) criticize 3) remove 4) regulate
The word “curated” in line 10 means ---- 7

1) selected 2) organized 3) protected 4) emphasized
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